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平面向量的线性运算 同步练习
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4、如图，D、E在线段BC上，且BD=EC，

求证：
[image: image121.wmf]AE

AD

AC

AB

+

=

+

。

参考答案

一、选择题

  
CCC
DAD

二、填空题
1、
[image: image122.wmf]3

4

、4、
[image: image123.wmf]o

30

、
[image: image124.wmf]o

60

、
[image: image125.wmf]3

4

。         2、
[image: image126.wmf]|

|

|

|

b

a

=

。

3、10，6．                             4、
[image: image127.wmf]b

a

-

，
[image: image128.wmf]b

a

-

2

。

5、
[image: image129.wmf](

)

b

a

AB

-

=

2

1

；
[image: image130.wmf](

)

b

a

AD

+

=

2

1

。     6、
[image: image131.wmf]a

、
[image: image132.wmf]b

方向相反。

三、解答题

1、（1）
[image: image133.wmf]0

，（2）
[image: image134.wmf]0

。

2、
[image: image135.wmf]b

a

AF

AB

BO

AB

AO

BC

+

=

+

=

+

=

=

；

   
[image: image136.wmf]b

AF

CD

=

=

；    
[image: image137.wmf](

)

b

a

BC

AD

+

=

=

2

2

；      
[image: image138.wmf]b

AF

BE

2

2

=

=

。

[image: image144.wmf] 

3、
[image: image139.wmf](

)

(

)

EA

DE

CD

BC

AB

r

q

n

p

m

+

+

-

+

=

-

-

+

-

®

®

®

®

®


  
[image: image140.wmf]AF

AC

CA

AC

=

=

-

=

2

（如图）

4、提示：可先证 
[image: image141.wmf]AC

AE

AD

AB

-

=

-

。

� EMBED Word.Picture.8  ���








数学备课大师 www.eywedu.net  今日用大师 明日做大师！

[image: image145.wmf]A

B

C

D

E

_1082809187.unknown

_1206863481.unknown

_1206885330.unknown

_1206885612.unknown

_1206946739.unknown

_1206948869.unknown

_1206949178.unknown

_1207059133.unknown

_1206948941.unknown

_1206947526.unknown

_1206947745.unknown

_1206948745.unknown

_1206947608.unknown

_1206946796.unknown

_1206885733.unknown

_1206939421.unknown

_1206885732.unknown

_1206885450.unknown

_1206885475.unknown

_1206885371.unknown

_1206863640.unknown

_1206885300.unknown

_1206885314.unknown

_1206864519.unknown

_1206863523.unknown

_1206863618.unknown

_1206863500.unknown

_1206863522.unknown

_1206861570.unknown

_1206863184.unknown

_1206863273.unknown

_1206863300.unknown

_1206863357.unknown

_1206863239.unknown

_1206862900.unknown

_1206862911.unknown

_1206862781.doc
[image: image1.png]






_1206862866.unknown

_1206861785.unknown

_1082809700.unknown

_1176877251.unknown

_1176877337.unknown

_1177007755.unknown

_1206861473.unknown

_1176877351.unknown

_1176879961.unknown

_1176877301.unknown

_1176877316.unknown

_1176877289.unknown

_1082809966.unknown

_1082811727.unknown

_1082809750.unknown

_1082809248.unknown

_1082809310.unknown

_1082809202.unknown

_1082807977.unknown

_1082808745.unknown

_1082808804.unknown

_1082809110.unknown

_1082808838.unknown

_1082808790.unknown

_1082808291.unknown

_1082808316.unknown

_1082808069.unknown

_1082804406.unknown

_1082804413.unknown

_1082804415.unknown

_1082804417.unknown

_1082807939.unknown

_1082804416.unknown

_1082804412.unknown

_1082804408.unknown

_1082804409.unknown

_1082804407.unknown

_1082804403.unknown

_1082804404.unknown

_1082804402.unknown

